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newspaper. They yield $500 million a year currently. They were 

introduced in the middle of World War II. Why? In order to divert 
resources from the consumption of such nonessential items in a 
period of war as jewelry, furs, cosmetics, luggage, handbags, etc., 

to divert resources from the production of these nonessentials to 

the production of more important things like guns, ships, tanks, 

et cetera. 

W h y  do we h a v e  t h e m  now,  w h e n  w e  a r e  d e s p e r a t e  to  e n c o u r a g e  
e x p a n s i o n  of  o u t p u t  in a l l  a r e a s ?  Why  do w e  h a v e  now,  w h e n  we  h a v e  
no  r e a s o n  t o  d i s c o u r a g e  c o n s u m p t i o n  of  t h e s e  i t e m s  r e l a t i v e  to  o t h e r s ,  
t h e  c o n t i n u a t i o n  of  t h e s e  e x c i s e  t a x e s ?  It  i s  t r u e  t h a t  d u r i n g  t h e  w a r  
t h e  r a t e  w a s  20 p e r c e n t ;  now it  i s  i 0  p e r c e n t .  But  w h a t  j u s t i f i c a t i o n  
i s  t h e r e  f o r  s e l e c t i n g  t h e s e  p a r t i c u l a r  i t e m s  f o r  e s p e c i a l l y  h e a v y  
t a x a t i o n ?  T h e  j u s t i f i c a t i o n  c e r t a i n l y  c a n n o t  be  found  in  t e r m s  of t h e  
o r i g i n a l  p u r p o s e  f o r  w h i c h  t h e s e  t a x e s  w e r e  i m p o s e d .  S o m e  w o u l d  
j u s t i f y  t h e m  on t h e  g r o u n d s  t h a t  t h e s e  a r e  l u x u r i e s ,  b u t  t h e  o n l y  
g o o d  d e f i n i t i o n  I h a v e  e v e r  h e a r d  of  a l u x u r y  i s  t h a t  a l u x u r y  i s  s o m e -  
t h i n g  w h i c h  p o o r  p e o p l e  s h o u l d  do  w i t h o u t  bu t  w o n ' t .  C e r t a i n l y  a t u b e  
of  l i p  r o u g e  o r  b a t h p o w d e r  is  no t  r e g a r d e d  b y  m o s t  w o m e n  a s  a l u x -  
u r y .  A h a n d b a g  i s  no t  r e g a r d e d  by  m o s t  w o m e n  a s  a l u x u r y .  

If you look further at the excise tax structure you find that in 

an economy heavily dependent upon production and employment in 
the auto industry we impose a tax of i0 percent on the manufacturer's 
price of automobiles. We imposed that tax first in 1932 as a des- 

peration emergency depression measure. We increased the tax in 
World War II in order to discourage production of automobiles and 
divert resources to tanks, planes, et cetera. We raised the tax from 7 

to i0 percent in the Korean war for the same reason. 

W h a t  s e n s e  d o e s  t h i s  t a x  m a k e  in  t h o s e  t e r m s  in 19647 It i s  
d i f f i c u l t  to  r a t i o n a l i z e .  We h a v e  t a x e s  on e l e c t r i c  l i g h t  b u l b s .  W e l l ,  
w h y  t a x  e l e c t r i c  l i g h t  b u l b s  p a r t i c u l a r l y ?  If w h a t  y o u  a r e  a f t e r  i s  
t a x i n g  c o n s u m p t i o n  i t e m s  and  i t e m s  t h a t  t h a t  go in to  b u s i n e s s  p r o -  
d u c t i o n  c o s t s  g e n e r a l l y ,  t h e n  t h e  s a l e s  t a x  a t  a u n i f o r m  r a t e  m i g h t  
w e l l  m a k e  s o m e  s e n s e .  But  t h e s e  s e l e c t i v e  e x c i s e s  m a k e  l i t t l e  o r  
no  s e n s e .  W h a t  h a v e  w e  g o t ?  I w o u l d  a r g u e  t h a t  if  t h e y  m a k e  s e n s e  
t h e y  m a k e  s e n s e  o n l y  in t e r m s  of a s u m p t u a r y  m o t i v e .  A n d  h e r e  t h e  
$6 b i l l i o n  l e v i e d  t h r o u g h  t a x e s  on l i q u o r  a n d  t o b a c c o  a r e  p r o b a b l y  
s a c r o s a n c t .  You a r e  not  g o i n g  to  ge t  a C o n g r e s s  to  r e d u c e  t h e  t a x  
on  c i g a r e t t e s  in  t h e  f a c e  of t h e  r e c e n t  r e p o r t s  by  t h e  S u r g e o n  G e n -  
e r a l ,  t h e  m e d i c a l  p r o f e s s i o n ,  e t  c e t e r a .  


